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0 0000 public class DomainService { public void
bizProcessA() { SomeObject instance = doSomeAction(). } public
void bizProcessB() { SomeObject instance = doSomeAction(). }
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[1 public SomeObject doSomeAction() { brocastEvent( new
Event()).} U O interceptor] public class Somelnterceptor
implements MethodInterceptor { public Object
invoke(MethodInvocation invoke) { obj = invoke.proceed(). // [
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withincodewithincodecflowcflowbelow(d [1 [ [1 [ pointcutd [ [
DO00000000000000 publicaspect ServiceAspect {
pointcut bp(): cflow(call( void DomainService.bizProcessA(..))).
pointcut action(): call(doSomeActionJ [1 ). SomeObject around() :
bp() amp. action() amp. args() { SomeQObject instance = proceed().
financialService.createRequestOfMoney(.). return instance. } } O O
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